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Fourth Semester B.E. Degree Examination, Jan./Feb. 2021
Microproce*5ors

Time: 3 hrs. ,#*,"' ry,JMax. Marks: 100q ' '.'::'

Note: Answer any FIVEfull questions,..chbbsing ONEfull questionfrom each module,

. ".-.,.: T-d$i p' '".

, ,r:q&t n,,- ;,,r;;,,,

I a. Draw and explain the intern4J l*chitecture of 8086 microprocessor. (10 Marks)

b. Explain the concept of sffiffinted memory. What arus"its,advantages? (06 Marks)

c. If (CS) = 2000H, (ffi6=.{234H, (SS) = 567&H+qGP) = 09AgH, calculate the physical
address generated.=b#..t.fr. microprocessor when"the following instruction is executed:
MOV AL, IBP +u55"H1. 

_j*,' 
- 

(04 Marks)

OR
2a.

b.

c. With numerical examplesjlldrate the use ogggffifi# CWD instruffiCI,ns. (04 Marks)

,'-==,.,,,: &@*"'""''
a. List out the five string manipulation instructions of 8086 and explain the operation of each.

b. Write an Asse--*,ilily Lun rur. .*ur;&P) to add the data word located il'ffi[]b. Write an ,tsseu,4$tr*y, Language Prograrii*,SlP) to add the data word located at address

2000H : 0500H tO'another dita woid-available at offset 0600H in the same segment, and

store the result and carry starting at 0700H in the same segment. (06 Marks)

c. witnffiiLal examp,.r,,,.Li :=ut the difference',! en sAR and SHR instructions.
(04 Marks)

, ;,.ii:i;r, ii

."-
a. '1{rite an ALP using asSsmbler directiv,es$ convert a A-digit packed BCD number into
.;tffiivalent 16-bit binary number, and store the result in memory. Write comments in your

program. ',.r (10 Marks)

b. Explain the follo.wing instructionr*iq,,1lJ, one example each: RCR, XOR, SAHF. (06 Marks)

c. State the dif?ef'&'rce between the' lowing two instructions: AND, TEST. What is the use of
(04 Marks)these instructions?

*;,1*" Modute-3" rii],,,,,,,,..,"

5 a. Explain the structure,of'dack in 8086 microprocessor. What is the
CALL and RET instructi'bns? Illustrate with example.

role of stack during
(10 Marks)
(06 Marks)
(04 Marks)

b. Explain any thre_e,methods of passing the parameters to and from a procedure.

c. What is a mac"r ive any two differences between macro and procedure.
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6a.

b.

c.

7a.
b.

c.

8a.

b.
c.

9a.

t7EC46

-\ORs
Draw the intemrpt vector table of 8086 and explain ho-$ interrupt request is serviced'

iaking the exampie of type N intemrpt ,*..,.., .,, .W (10 Marks)

Write an ALP to geneiate a time delay of 10 sec& ilsing an 8086 system that runs on

lOMHz frequency. ',n ", "' (06 Marks)

Bring ort ury four differences between maskq.b# non-maskable intemrpts' (04 Marks)

Modilk;4
Withaneatdiagram, explainthemaxi dode 8086 system * .... ._goMarks)
write the tunctions of the fo[owinqffi.rgnHi of 8086 : i) ALE 

nii).,,DHN 
iii) BHt; 

Marks)
rdt!:.:.. ",S,, ''r,\,.

Draw the minimum mode reaa*q$;1aftfl"ing diagranq and qx$'Ifr'ffi briefly' (04 Marks)

-'," i
- 't' ' OR ., - -"__

Design an interface bq,tryf€n 8086 and two- J9t =!if,#re 
RAM and two ICs of 16KB

EPROM. The RAM u4-Ore* must start at 0000oqffid the EPROM address must end at

FFFFFH. *** 
'+e'l (10 Marks)

O."* tfr. internahhlhfrtecture of 8255 PIO and dxplain in brief' (06 Marks)

B*pfuio Mode-l and BSR modes of 8255-. I (04 Marks)

{ d**

'1,r."' 
.':t:Y**.t

J". 'rd. ffi..."*' -- * -

l0 a. Write an ALP te.#A"O a 2-digit hexap9cipai number froffifuboar{, and display its 4-digit

square vatue,ritrfu-co-putri r.r..q[-%fig appropriate D-bS tunction calls. Use assembler

directives and'Toinments in your f*-ffiam -1,. 
" 12 Marks)

b. Write shoJt flotes on Von-Neumann=tchitecture art6:-I{hrvard architecture of computers with

neat b-lei'CI*kdiagrams. ."\ 
=t 

(08 Marks)

li6;:::i* ,!**:i.;;,,:,, iitt 4;

{':&**tl'*l-* W o*'-i ''
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r\ro 
*r* 

'i

b. Interface DAC0800 with 80ffi ePU using

r iil'

i:1,

.,,:,:lhl,$!s::,,

l=$+ -

,::::'

Use port A for transferring digital
that analog inPut is Present at

ALP. (10 Marks)

5enerate a

1z andthe
(10 Marks)
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